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There are three management colleges — A, B, and C offers MBA program in two streams — Marketing (MT) and
Finance (FN). The bar chart given below shows the number of boys and girls in marketing stream of three
different colleges.
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a) The number of girls in college B is 50% higher than
that of boys in college A, while the number of students
Marketing Stream in college A is 300 lower than that of college B.

b) One — fourth of total number of boys in all colleges

300 %0 together is 215, while number of students in college B

250 is 800, which is 400 more than that of students in
200 college C.
200 c) The number of boys in college Ais 200.
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a) The number of girls in college B is 50% higher than that of boys in college A, while the
number of students in college A is 300 lower than that of college B.

b) One — fourth of total number of boys in all colleges together is 215, while number of students

in college B is 800, which is 400 more than that of students in college C.
c) The number of boys in college A is 200.
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The number of girls in FN stream from college B is how much % more or less than the
total number of students in college A?

HTIS B ¥ FN THH H TS (RAT chl HEAT hiche A W BT 6T het &A1 A fohel % 37feres a1 & 72

1.25% more

College | Total | Boys iﬁo&? i?\olzllfl Girls iSiI(/llsT i(rsmilrillil | | 2.76% less
A |500| 200 | 120 | 80 | 600 | 200 | 100 3.64% less
B | 800| 500 | 300 | 200 | 300 | 180 | 120 4.98% less
C |400| 160 | 60 | 100 | 240 | 40 | 200 5.19% more

Total [1700| 860 | 480 | 380 | 840 | 420 | 420




Find the difference between the number of students in FN stream of college B and
C?
TS B 3R C o FN T U STAT shl HE&AT oh Sl T 3TaT JTd chiTa?

College | Total | Boys iﬁo&? i?\olzllfl Girls iSiI(/llsT i(rsmilrillil | | 2.20

A |500| 200 | 120 | 80 | 600 | 200 | 100 3.25

B | 800| 500 | 300 | 200 | 300 | 180 | 120 4.30

C |400| 160 | 60 | 100 | 240 | 40 | 200 5. 35
Total |1700| 860 | 480 | 380 | 840 | 420 | 420




Which of the following statement (s) is/are definitely true?
I. Total number of students in college A is 62.5% as that of college B.
I1. Number of girls in college A and B are same.

III. Number of girls in FN stream of college C is 4 times more than the number of girls in MT
stream of same college.

L. SIS A W DAL ol et TEAT hieist B Y T H 62.5% 2
I1. ST A 3 B # eIeferat shl €At @0 2l
IIL. HTAS C % FN T cTEieRdl hl HEAT IHT Shictsl ok MT TEHH H TS (RaT chl €EAT & 4 AT ST 2

College | Total | Boys iﬁo&? i?\olzllfl Girls iSII(/llsT i(rillrillij 1. 1l only
A |500| 200 | 120 | 80 | 600 | 200 | 100 2. 1 only
B |800| 500 | 300 | 200 | 300 | 180 | 120 3. land lll only
C |400| 160 | 60 | 100 | 240 | 40 | 200 4. 1l'and Ill only
Total |1700| 860 | 480 | 380 | 840 | 420 | 420 >. NOT




M = Difference between the number of boys in MT of college A and the number of girls in
FN of college B

N = Difference between number of girls in MT of college B and number of boys in FN of
college C

Find the value of (M + N).

M =TIt A o MT U TSehi Shl AT T hTett B N o FN W TTSfoRdl shl WEAT o st o et =
HIAST B % MT § TTeferat shi TEaT 3R Sietst C % FN § eTgeht hi €T o sier T 37a¥ (M + N)
T I FTd hifTe?

= 1.50

College | Total | Boys iﬁo&? i?\olzllfl Girls iSiI(/llsT i(rsmilrillil N 2.60

A |500| 200 | 120 | 80 | 600 | 200 | 100 3.70

B | 800| 500 | 300 | 200 | 300 | 180 | 120 4.80

C |400| 160 | 60 | 100 | 240 | 40 | 200 5.90
Total |1700| 860 | 480 | 380 | 840 | 420 | 420




The number of boys in FN stream from college A and B together is how much % more
than the number of girls in FN stream of college C?
alﬁﬁa%A 3R B © FN W U TIgehi chi GEIT et C oh FN WA T cigfehat chl €&AT § fehaw %

o\t 1.20%

College | Total | Boys iﬁo&? i?\olzllfl Girls iSiI(/llsT i(rsmilrillil | | 235%

A | 500 200 | 120 | 80 | 600 | 200 | 100 3.40%

B |800| 500 | 300 | 200 | 300 | 180 | 120 4.45%

C |400| 160 | 60 | 100 | 240 | 40 | 200 5.50%
Total |1700| 860 | 480 | 380 | 840 | 420 | 420
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The given pie chart gives the detail about the percentage of the number of boys in each class of a school
ABC. The total number of boys in the school is 57.14% of the total number of students in the school.
There are five different classes in the school. The another pie chart shows the information about the
percentage of number of girls in each class of a school ABC.
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Total number of boys in the school = 800

Boys Girls




The total number of students in class V is approximately what percentage more/less than
the total number of students in classes II and IV together?

HATV | BTAT bl el AT HEAT [ FR [V T BTAT h Shel AEAT § AT {ehaw Tfaora
TforeR/RT 22

Total number of boys in the school = 800
Boys Girls

1.30% more
2.52% less
3.72% more
4.84% less
5.28% less




What is the ratio of the total number of boys in classes I, II and IV to the total

number of girls in the same classes?

HAT I, I1 AR [V | TSR hl Shet SEAT TR THI HEATAT T TSThal chl shel TEIT T

FATUTA T B2

Total number of boys in the school = 800

Boys

Girls

1.41:28
2.40:27
3.40:29
4.40:21
5.41:21




Find the difference between the total number of boys in classes I, III and V together .
and the total number of girls in classes II, IV and V together?

HAT I, [T 3RV | TSh! hl Shet ST SR HAT I, [V AR V § TTSirat i et dEar

o ST T 3T AT hIfA0)

Total number of boys in the school = 800

Boys Girls

1.100
2.112
3.104
4.114
5.124




The total number of students in classes I and III is approximately what percentage

of the total number of students in the school?

HEAT [ 3T I § BTAT Sl TheT TEAT Thel W BTAL shl Thet GAT hT TR fehe=T Tfaora

2?

Total number of boys in the school = 800

Boys

Girls

1.41%
2.55%
3.64%
4.78%
5.90%




What is the total number of students in classes II, IV and V of the school?
foramera hT wATIL IV AR V H STAT hT Shel HEAT 71 82

Total number of boys in the school = 800

Boys

Girls

1.800
2.810
3.820
4.830
5.840




In a bag, there are 5 red, 7 white and 3 green balls. One ball is taken out randomly. What
is the probability that the ball is neither white nor green?

Tk ST, 5 T, 7 Tthg 3R 3 g 713 E| Ueh T ohl S 1e &1 & ATl FhTeAT ATaT 81 ST HmaT 8
foh g 7 A1 The § ST A T 82

1.1/9
2.1/3
3.1/7
4.1/10
5.1/5




A shopkeeper purchases an induction cooker of marked price of 3000rs at successive @Y
discount of 10% and 20% respectively. He then spent 100rs on packaging and sold it

for 3000rs. Calculate his approximate gain%?

Teh SRR 3000 TUH ok Jifehel Todt AT Teh SSHI Thehd SHAI: 10% I 20% ch hitreh TE

T AT 2. TR 32 Qeh ST W) 100 T @ fohT 3717 38 3000 T3 W <=1 fo=m) sueh

HATATHT ATHY, ThT TUET 2

1.21%
2.29%
3.27%
4.30%
5.33%




J goes to temple at the speed 45 km/h, and he reaches S minutes early. Next day he goes at
the speed of 60 km/h, and he reaches 30 minutes early. Find the distance between his

house and temple?

J 45 forit e oY wfer & e STTat &, ofR a8 5 fire uger udwrar 21 anTet fot 92 60 fereft et iy rfer
A ST 7, 3R g 30 e Teer uge ST 31 36k =R 3 wieR 3 ofter iy gl e fifonr

1.75 km
2.80 km
3.70 km
4.90 kKm
5.NOT




A and B completed a work together in 6 days. Had A worked 1/3rd of his efficiency
and B's efficiency remains the same, then it would have taken them 10 days to
complete the task. How much time would it take for A alone to complete the work?

A 3R B Teh €T Teh &1 i 6 ToT & 90 ¥ §1 TS A ¥ 370 e7aT T 1/3 el fohar grar 3R B
T HIALTHAT T TEeAt, qT Ivg BTd W A H 10 TS TRTA1 Aher A it T ! O A | e
qug TRM?

1.15 days
2.21 days
3.6 days
4.12 days
5.NOT



